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                 Lج ا	��Jل ا	��� �H��4�B در�G &Eارة ���5& و�� و�Eد و( D�C��� )C�B�(H2O2) 4رس -��� ا	�4ء ا@وآ/?���    
     %����� %M�J	ا  

 N�	د��( �H��4�2:    آH2O2(aq)  =  O2(g)  +  2H2O(l) 
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4  ���ZB	& ا	W� 1(2+  ا	[ H2O2 ] �0��4، ارRC آ���� ��% )�J�+ در�G &Eارة أآ�� ـ اذا أa��E ا	�?��& ا	/��0& 
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��Z أن �1<��1 ����A#ج ا!�'�ل ز.A!د!  ا��A� +2�  :ا!��!� ا!�>
(CH3)3C-Cl + H2O → (CH3)3C-OH + (H

+
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-
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�س eAc1  �?R ذ!; أ�+ .&�O.  �?����ء .& آ���ة آ�A  2?5 <'��ي ���4 �� ا!A!ا D�d1و �@!   �Aآn0 .& 2 .'?�ل-

�5) 2( ا!4*+ <��& . ا!*�و.�1�� c41+ و ، ��و��ن .�g+-2-آ?�ر'��?�  ���cات  .��  :ا!K�� &.0!  ا!���2  ا!
1 - h41م ��ول أ�O�!ا   
2 - &��> ��'�A!ا σ = f (t) أن  �?���  t = 0 s . ا!?'9  2�� !?a>0A ا!���2  ا!

�ذا ؟  ا�Bح ، .��و. A!  
3 -  �?��1 5W�� ي .'?�ل��ا!�4ارد  2?5 <' Xi   �I�!�� :. σ = Σ λi.[Xi]  
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].[Cl
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5-  1���MK�� ��'�A!��  و �I�!ا  O����a ا!��Mا  A���(� ا!�O�م @�  .  xf ا!
λ(Cl-) = 76,3.10
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� σ (t) و x(t) ا!�����& أن ��& -6A@! e<1 ات��c�!ا �J a���Mز.& ا DE1 t1/2  . +2���  &ا!�>'�A!ا σ = f (t).  
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